Module

Convert

Target Selection
Survey Strategy
Fiber Allocation
Throughput
Sim_Gal_Spec_Clean
Sim_Gal_Spec_Observed
Measure_Redshift
Bin_Redshift
Estim_Cosmo_Param

Assignee
Ben, Laurenz

Ben, Steph if questions
Santi

Jaime

Brian

Brian + Carlos

Brian + Carlos

Ben, Oli if questions
Brian

Andrina

Don

10 working? completely working?

next step
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just 10 left

bind code with 10
write/wrap
finish rewrite (calculation errors left)

test run, does it do the same as Don's?
bind code with 10



